
New Question Model of Class XI 
(POLITICAL SCIENCE) 

 
 Assertion-reason Type Question: 

 

 Directions: In the following questions, two statements are given - one labelled as Assertion 
(A) and the other labelled as Reason (R). Read these statements carefully and choose the 
correct option as the answer from the options (A), (B), (C) and (D) given below.              1x2=2 
                                            
Assertion  (A):  Fundamental Rights are different from other rights available to us. 
Reason  (R):  Fundamental Rights are protected and guaranteed by the constitution of the 
  country. 
Options : 
 (A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct  
  explanation of the Assertion (A). 
 (B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct  
  explanation of the Assertion (A). 
 (C)  Assertion (A) is false, but Reason (R) is true. 
 (D)  Assertion (A) is true, but Reason (R) is false. 
 
Assertion (A): The refugees are living in the state of homelessness in temporary   
  establishments. 
Reason  (R):  The conditions of the refugees are marginalized and there is less access to 
  food and  education for them. 
Options : 
 (A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct  
  explanation of the Assertion (A). 
 (B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct  
  explanation of the Assertion (A). 
 (C)  Assertion (A) is false, but Reason (R) is true. 
 (D)  Assertion (A) is true, but Reason (R) is false. 
 

 Source Based Question 
 

Q. Read the following passage carefully and answer the questions that follow         1x4=4 
 

The term ‘Parliament’ refers to the national legislature. The legislature of the States is 
described as State legislature. The Parliament in India has two houses. When there are two 
houses of the legislature, it is called a bicameral legislature. The two Houses of the Indian 
Parliament are the Council of States or the Rajya Sabha and the House of the People or Lok 
Sabha. The Constitution has given the States the option of establishing either a unicameral or 
bicameral legislature. At present only five States have a bicameral legislature. 

 
Questions: 

 1.  What does the term ‘Parliament’ refer to? 

 2.  What is a bi-cameral legislature? 

 3.  How many states have bicameral legislature in India? 

 4.  Identify the two houses of Parliament. 
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